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1. CtrrlnLtrbl fr qfrrnnplnLL, np durdlbrnnul h uuhrJutrr{ur6 ltupqfr qurhutr2Lbpfrtr hturft.uqr"uunurufuuL hurlu btt

trbpltrlurgpbl hbrn14ur 1 !urqtlu!bpqnp1ruLbbpl.

U ruutu[g]t tutt t[tut n tdp U ruut rut1g lr u r[ rulhbp p

1 nPU0UhU, Ua'lC p. bptruL, Up2url.lnLtrlurg 57116; hbn. +(374)55 44 8815

2 (kPusbnhbn qnnf.'nD U'rlc p. bpLurlr, +urr{irp-Pblfr 13414; hbn. +(37a) 60 66 88 88

3 <Snrynu-Ut4.u> UT IC p. UpLuutr, SfrqpLutr Ub6h 36; hbn. +(374) 98 2511 33

4 ftnrqutrtru l.Iftrruulutr tlur$Lur !f W0 p. bplrutr, Pur2frtr2uryuL 103/1; hhn. +1374191 50 42 64

5 (qSU PLU(a0UPCL) U'qC p. bpUutr, ChnurU 96; hbn. +(37a) 99 63 09 35

6 orlurdhp tr Lffrpurlbp, Url0 p. bptrnrlr, l-htrfrtrqpur4lur\t 31112; hbn. +(374) 9417 25 48
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<PUFUhU,r UflC

qnqurpurLr.utln

trpfl r]bfutuLfiqd

268 830 20% 322596

680 000

2 nEpumbpfrbp $pnLq> U'lC 272 000 20% 326 400

3 oSnrpnu-Ul1u> UrlC 286 660 20% 343 992

4 ftnLqutrLtu [IfrLuulutr,luqflutl[ U/t 293 000 0% 293 000

5 nqSU PLUfa0UPCI-,, tJal0 310 000 20% 372 000

6 rrlurr]hB L LIhButbt> U'rlC 708 333"34 20% 850 000
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128 580 20% 154296

200 000
2 nkoutnbnhbn 9nnu.u, U'lC 130 000 20% 1s6 000

3 unurlha tr ljhou.rrbr> UrlC 140 580 20% 168 696

4 .QSU €], U (-}l' UPCL,, tjalC 157 500 20% 189 000

5 ftnLourtrtru.r uhtrtuurutr,{urnhtrurlrh U/t 195 000 0% 195 000
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3 "$SU Pl.,,UGtU€Cl-,, tjal0 funr1n{u!urlftr
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69 300 20% 83 160
90 000

2 ftnrq utrLu tjhLururuutr,{urnhtruUh U/t 88 000 20% 88 000
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69 500 O o/o 69 500
100 0002 nrlur.lhB [r lfhpurtbt, U'lC 75 170 20% 90 204

3 "9SU PLUfltaUPDL, tJal0 82 s00 20% 99 000
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9s 0002 < tournbnhbn 9nnrur> U'rlC 68 800 20% 82 560

3 ftnrqtutrtru uhtrr.uuttul,{unhLurllh U/t 95 000 0% 95 000

4 <rlurdha [r ljhpurtbt, Utl0 104 166"67 20% 125 000
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2 orludhB h uhpurtbt> U'rl0 51 460 20% 61 752
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